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1 The Khilafat movement was led by -
(A) Bal Gangadhar Tilak and Vipin Chandra Pal (B)  Maharaja Hari Singh and Shaukat Ali
(C)  Mahatma Gandhi and Khan Abdul Gaffar Khan (D)  Mohammad Ali and Shaukat Ali

(E)  Question not attempted

Raetea areYer &1 Agea fomass g foam v e

(A) = e foeres i fafs e ure (B)  wews gf firg sftt giwd STl
(C)  HereHT it S W ST THRER @I (D) e 3t st it el
(B) igei@ gy

2 The famous speech addressed by the first Prime Minister of India Jawaharlal Nehru at the hour of midinght on 14-15
August 1947, is known as: (Choose the most appropriate option from below)
(A)  Tryst with Destiny . (B) Hope for the better future
(C) Wings of Challenges (D) Independent India

(E)  Question not attempted
ST 3 oI ST HAT TS elTeT e 5 A 1947 3 14-15 ST B qeaqty shi i e wfdrg sor 1 o A S

ST &2 (FreT | wed ST feed 99)
a) FR=fesfeh (B) EIYHR G S T
() famw 3its o= o) et
(E) SgaRawH . ~
3 In the fourth phase of integration of Rajasthan, which four princely states merged into Greater Rajasthan?

(A)  Alwar, Bharatpur, Dholpur, Karauli

(B) Jaipur, Jodhpur, Bikaner, Jaisalmer

(C) Kota, Tonk , Bundi, Jhalawar

(D)  Pratapgarh, Dungarpur, Kishangarh, Shahpura
(E)  Question not attempted

e 3 v o 9 = i R = et s e e § faer gem
(A) oA, WA, g, Fed

(B) Y, STH, HF, LU

(C) @iz, 3, 541, AT

(D)  wATITg, SRR, e, e

(E) w94

4 The adult human dental formula is:
T WA 7 A ¢
2l25 2213 "
@) 2123 W 5 ,
©) E (D) 2122
2112 3122
(E)  Question not attempted / SRR D!
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5 Given below are two statements: ¢
; : i o
Statement (I): Blood transfusion is a method in which blood or blood products are transferred from the circulatory
system of one person to andilikr. i,
-

Statement (I1): The first bldod transfusion was carried out by Karl Landsteiner, >
; « .
In light of the above smlcmgls. choose the most appropriate answer from the options given 1‘Jt:low.

(A)  Statement (I is true bul Statement (11 is false. :f}
(B) Statement (1) is f‘alscq;{tt Statement (11) is true. é}
(C) Both Statement (1) "I:f(fSlMCI'I'ICI‘lt (II) are true. Tg
(D)  Both Statement (1) and, Statement (I1) are false. i
(E)  Question not attcmpfej
FHUA1 =meﬂs{?§ﬁwﬁ%ﬁmﬁwwﬁﬁﬁ@wﬁﬁ%mﬂwﬁmm&}wmmmﬁmm
ST 8 o 0N
HUA 11 : YT Th €07 (e B femar o i~
It et o Teiten i e forsedt § & waffires Juges SWUEH - %8
(A) o (1) e & o e (1) Sree 21 (B) o (I) 3 & b o (I AT 21
A0) T (1) FRF ()BT & & (D) I (1) 3T F (1) ST 28T 2
(E) gaiaws i v
6 Which of the following is iffi¢drrectly matched? fz i
i
(A)  Plaster of Paris - Cagg-%HZO (B) Baking soda - NaHCO, {«;;
(C) Washing soda - Na,CO, (D) Bleaching powder - Ca0 =]
(E)  Question not attempted (48]
frafafaa 3§ & g Pramgd a8 22 O
(A) R s AfE- Ca$0, % H,0 @B) afETEE NaHCO, ﬂ
(C) afEmHERET- NaZC();-j : (D) wAifERT U=RET-Ca0 .
(E) Srufa s g N
4 &

T Given below are two state %Dts: N
Statement (I) : ‘KARY A’;iﬁ a program of department of science and technology, governg?nt of Rajasthan.

Statement (IT) : ‘KARYA Cﬁms to provide short term research opportunities to students oalngsic sciences at graduate

level only. o , . . e
In light of the above statcmglis, choose the most appropriate answer from the options gwgypelow:

(A) Statement (I) is oorrq,cqbul Statement (II) is incorrect. -

(B) Statement (I) is incorrect but Statement (1) is correct.

(C) Both Statement (I) apd lStaten'm:nt (1) are correct. N4

(D) Both Statement (I) ag‘g)smtement (11) are incorrect, O

(E)  Question not attempfed o

Fr a1 fag e g = sl

o - | : FAKARYA) forgry v sirenfiret fersor, wrsrear e a6 ueh s 21 o

ot - 11 : FT (KARYA) FLEE et S 3 oril o g fagri & ey aferes i ST ) vam s
At 3 sl i Frfefaa faaedl 3 @ watfam sogw s Ty}

) FE () T R g (1) e (@) A (1) e & R A (D Ry

() A (1) s (11) 2 we € (D) e (1) St (11) B e &

(E) FIARANA
A15] ¥ 3 [PT.0,
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¢ Raj 4sthan .oh Court located?
8 Where 8 the F’i‘“’cipal seat © J (B)  Jodhpur
(A) Kota (D)  Ajmer
© Barmer
(E) Question not ““cmpw‘:ﬂz (&Wiﬂz) el feord €7
e I ik (@) ST
@ T (D) I
© T
® I
9 Who was the State Election Commissioncr of Rajasthan (d;)f‘ﬂg i(:::?s-
(A) Madukar Gupt2 o) Inde:]: " Eﬁ: Rathor
© N.R. Bhasin nna
(E) Question not attempted
ﬁzozsﬁwﬁ%mﬂqﬁmﬂﬁaﬁﬂ? o
s TET By R
© I @) e
(E) At A
10 Which of the following statements i not true with regard t0 the Comptroller and Auditor General of India?
a. The CAG is appoited by the President of India.
b. The CAG can be removed O the recommendation of the President of Inidia.
& The salary and allowances of the CAG are charged on the consolidated fund of India.
d. The Tenure of CAG is fixed for five years.
Choose the most appropriate answer from the options gi{zen below:
(A) b, C and d only B) & b and d only
©c &€ and d only ®) & bandc only
(E) Question not attempted
ﬁamﬁwm#ﬁmﬁnmﬁﬁ%aﬁﬁaﬁqﬁﬁ?
a (CAG) ! W%Wﬁ%mﬁﬂ?ﬁﬁﬁmwgl
-3 ga; %W“a‘”(CAG)ﬁmwmﬁl
; (CAG)Waﬁ?aﬂtq%mﬁ@mﬁ&ﬁﬁam%%
d. o (CAG) T T 5 W s e Lk
s g et & s T LR )
(p) HAAbC e d Vi :
(©) A a, ¢ Ad y Saeta, b 34
() A IE D) aeta, bAME
g frefefad et i 7 fefad T 3
a. afa
c. ¥ b, WO
e. faeFnv d. Hﬁ'ﬂ
i g et TS T
A) Fadadite &1 94 hifr
i e ®) a3
& T ©) b SfC
i

a15] @' "
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13

14

15

16

17

U SN FelT o1 g e 8- :

a. TqEdT b. HLerdr

c. Taerear d.  g®

e. Hfarear
frer fog e femredt § & walfare Juge s wa7 il
(A) Faele, d3T b (B) Facic,d3Ma
(C) Fadc,d3Me AD) Fada,b3e
(B) rgaiay sy
wiferar & forwr arg=se o Irgan & 2y iy gonmr 2
(A) T 234 ‘ (B) 704 283
(C) 37F=aT 343 D) 3% 243
(B) -~ rgeia w
Which of the following is the starting point of the Ram Setu in India?
(A)  Arichal Munai (B) Shivaganga
(C) Thanjavur (D) Madurai

(E) Question not attempted

wra # Freferfea # & =1 a1 wwig w5 il fig de

(A) e g B) e
© ) 5
(E)  3fguia sy

GET IT ON
Google Play

Which Union Ministry launched the ‘Swachh Sarvekshan 2023’ - Mera Shahar, Meri Pehchan’ survey? (Choose the

most appropriate option from below)

(A) Ministry of Jal Shakti

(B) Ministry of Tourism

(C) Ministry of Housing and Urban Affairs (MoHUA)
(D) Ministry of MSME

(E)  Question not attempted

PR TATERT 3 T WA 2023 - T e A e i weeor e e (e H A el g forehed )

(A) e ifth T (B) WA HaTe™

(C)  STETE 37 et & A , (D) TUH.TH.UH. . HATEH
(B) IgufasH

In Olympic 2024, India was at spot in the medals tally?

(A) 370 (B) 91

© 1™ (D) 71

(E)  Question not attempted

Wzozﬁmmmaﬁmﬁﬁ__mmm-

(a) 379 ®) o91d

© 179 D) 719

(B) i@y

Which state hosted Outlook Planet Sustainability Summit and Awards-2024?
(A) Goa (B) Tamil Nadu
(C) Rajasthan (D)  Maharashtra

(E)  Question not attempted

o TS 3 TS W wRAfaferdt afte UE STargw 2024 6 star

(A) T jg) affrerrg
(C) TSEIH ) WERg
(B) aRa s

Al15] 45 5
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18  Choose the odd one out. (B) France ™
A ‘
EC; E:i:ze :;2 (D) Poland e:%
(E)  Question not attempted ™ ii
T &1 93T | . i
) e ) g . o @
AC) i Q (D) Tt ?}
(B) qaf@wx :ﬁ ol
19  Ifina certain code, O is writtenas L, Aas H, M as |, SasF,NasT,EasS,Ias A, Pas Gand CasE, then how wil|
COMPANIES be written in thdt'code? ™
TR frft e OH L AG M@ L, SF F,NFIT,EH S, [F A, P G ¢ C FLE ferarsmar 2, it s #re i
COMPANIES % 3 ferar ey ™ :
(A) ELIGHATFS 4 ~B) ELIGHTASF v
(C) ELIGHSBSF 0 (D) ELGHITASF 0
(E)  Question not altempted@ﬂﬁﬂﬁga 2
1 i)
20  Take the given two statements {0 e true even if they seem to be at variance from commﬁ"fy known facts, then decide
which conclusion would follow on the basis of given statements?
Statements I : No Apple is Bdiiaha. )
Some Bananas fré grapes. o
Conclusion II : I. No Apple a@ﬁapes Y
I1. All Apples%"e grapes is a possibility. 7
In light of the above statements‘?:hoose the most appropriate answer from the options g:;en below:
(A) Both conclusion I and I follow. (B) Neither I nor IT followst=
(C) Only conclusion I follov@ (D)  Only conclusion II foll @
(E)  Question not attempted” vi
mﬁﬁqmawﬁa&mm% Wt & I WA T Gt & R el 81 8, S9! 98 7 HE 8 fam a
Pt fRq T et 1 e S B SO T 87 "
w1 o A, Fer T Q
%, S 8 Y
freamd 11 - 1. %8 o et SO v
1L wft A, wxgﬁii%mmw% Y
e e 35 el 3 e Rovedi & i suge o e
(R4}
(A) ﬁﬁwﬁlmllm@tﬁmﬁl _(B) Fd1sAAn oy
(C) WMIWEFE’%I (D) Saer Frsd 11 Wﬁ%|
(E) Hqafasd
) m
21 Anoop told Munna, “Yestcrdgful defeated the only brother of the daughter of my gnm—ﬂmgher Whom did Anoop
defeat? ool
(A) Son u,_] (B)  Cousin ‘-i
(C) Brother (D)  Father o0
(E) Quesl:on not altemp l'")
*) 3“*" ® i 1
© EH W) frrshar
®) HT{F{'HWH

Al15] @

[ P. .Tno'
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There ufe five friends — Sn.chin. Kamal, Mohan, Arun and Ram. Sachin is shorter than Kamal, but taller than Ram.
Mohan is the tallest. Arun is a little shorter than Kamal and a little taller than Sachin.

Who is the second tallest?

(A) Kamal (B) Arun

(©) Ram (D)  Sachin

(E)  Question not attempted

i ARt 8- WiRH, F9, HI6H, 31607 371 1) TR 1 8 el D11 R, T 3 w12t B e 7 A e 21 510
2 U & N FA & AN AR A dgraer

e T E W TST R 82 _
£A)  FAE (B) 3
© ™ (D) @fem

(E)  7gafd 5o

Which of the following words will come second in the English dictionary?

3fireft yreeanten ¥ fFrferfiaa & & s a1 vreg quy T w amgm?

_{A) Maternal (B)  Magnify
}i) Magnetic (D) Magical
(E)  Question not attempted / SAFARE 74
Arrange the following States / UT of India in descending order according to their population density (Census 201 1).
a. Kerala b. West Bengal
c. Delhi d. Bihar
T ¥ PR Tsdt / St S29T S 2011 F ST % SR 0 SHEEAT B % IIER S (929) 5
Saftyq Sifsa _
a. WA b. uférm s
c. (oot d. forem
Choose the most appropriate answer from the options given below:
ey forg e Rreredl & & warfferes Iuge SR TH:
LA) c,ad,b (B) a,db,c
(C) ad,cb (D) «¢,d,b,a

(E)  Question not attempted / 31T 5=

Given below are two statements:

Statement (I) : Alluvial soils contain an adequate amount of Potassium, Phosphoric Acid and lime, which are ideal
for growth of sugarcane, paddy, wheat and other cereal and pulse crops.

Statement (I1) : This soil contains enough quantity of Nitrogen.

In light of the above statements, choose the most appropriate answer from the options given below.

(A) Statement (I) is correct but Statement (11) is incorrect.

(B)  Statement (I) is incorrect but Statement (11) is correct.

(C) Both Statement (I) and Statement (II) are correct.

(D) Both Statement (1) and Statement (1I) are incorrect.

(E)  Question not attempted

e (1) : Steitg gt i qaiy wrr i dre, e uftre SiCTar O S @, S, 4, 18 3 3 3T 3R Terey
wHar & Icared F fau smasi 8

aer (11) : 5 o i oty vy #f g redt S 21

iR AT 3 AT i, i fa g famedt i @ waffaw suge STl

(A) o (1) I R A e (11) e B (B) e (1) et & @ w (1) TR

(© (1) frcamer (1) 2t we D) e (1) st (1) A e 8

() TR

‘ A15] £5F 7 [P.T.O,
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18 26 Among the following places in Raiq;.‘}han, where is the Pichola lake sﬂ.uatcd ? M
(A) Bhilwara o (B) Kf“"'“!' o
(C)  Udaipur (D) Ajmer N
(E)  Question not attempted i
Torefter (freem) sfier, Troreem 7 8 e T 3 oyt el 82 0
(A) e i (B) et o
AC) IR - (D) I Ty
(E) 3rqafeyn y “r
_ 27  From which generation of computerithe use of Integrated Circuits (IC) started?
19 (A)  Third Generation () (B) Fourth Generation )
(C) First Generation 0N : (D) Second Generation O
(E)  Question not attempted i N
mﬁwm%%@ﬂauﬁ@@ﬁm)mmu%ngﬁgm%? |
(A) et i o £B)  =heftfich 0
© el i (D) - TEdrdigh &
(B) Sqaf@usy o Ty
28 Which of the following options is arranged in descending order of their storage size? i
20 @hﬁn%m%mﬁwﬁ?&]ﬁ:—mﬁmmm@)mﬁmﬁ
(A)  Bit, MB, Nibble, KB () (B) Bit, GB, KB, MB ™
{£) MB, KB, Byte, Nibble &N (D)  Nibble, KB, MB, GB ()
(E)  Question not attempted / SFEf wy O
€0 i
29 PARAM is a series of fziembled in India by C-DAC, Pune, (59)
(A)  Micro Computer L0 (B) Mainframe Computer o
(C)  Mini Computer - (D)  Super Computer m
(E)  Question not attempted : vol
Rt b CRUEA TR L B e e — .
(A) T wm A B) FrwEw
©  fefrFgz . D) grem 0
(E) srgafaux o o
30 Ramganj Mandi, also known as cdfiander city, is situated near which of the following citigsaf Rajasthan?
(A) Sriganganagar o (B) Kota 0
(C)  Jodhpur Iy (D)  Udaipur o
(E)  Question not attempted 1} LN
i T 5, 5 i e 3 A & St e &, Freafirfe 8 & o 3 R arac o Fordtan fer &2
(A) )  4B)  @Rr
© = o (D)  3=x ™
(E) wjm??fiaw Cul Q
< N .
2 31 Which of the following districlst(;g Rajasthan is famous for the highest production of \,'_\'h?ut in year 2022-23 §
the state ? o (48]
(A)  Bundi i (B) Kota '
(C)  Sri Ganganagar o (D) Jaisalmer T
(E)  Question not attempted ' 4
TSTEAT % fey 3 & wtan v ad 2022.23 it 31 W % walfies see ¥ fag ufag @
(A) @ (B) @
(C) v (D) Sweni
(E) rqaf@yy

| ASL & 8 [PT.0
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Which among the following is not an Agro based Industry in the state of Rajasthan?
A) Iron and Steel Industry (B)  Cotton Industry

y DelMdls (D)  Rice Mills
E) Question not attempted

wmumi’t %ﬁgﬂqﬁﬁmm@ﬁmﬁamqﬁm

4A) B (B) e I, ;
© aa @1 (D) e fagd,
® t“l ' g
33 Who dcclared ﬂuﬁ status .Of women should also be raised and womenishould be trained to take a larger and more
intelligent intereSUin public affairs™ at the Maharashtra Provincial Conféfénce in May, 19287
(A) Subhash Ghandra Bose (B)  Bhagat Sirigh
(C) Mahatma Gandhi ) (D)  J.L.Nehfy
(E)  Question not attempted -~
mﬁ%ﬁwuﬁmn@ 1928 ® fope gigum hY w%maﬁaﬁtﬁmﬁfmmﬁmm%qaﬁmﬁmmmzﬁga
ﬁmﬁmﬂhﬂ&ﬁﬁ%%&mﬁmmmﬁ@? o
AA) MW%FH . (B) wﬁg"_’_}
(C) e i D) v TeE
(E) Tafa war! ™
34 In 1859, ‘Relief.of Lucknow’ painting was painted by 0
(A) Oubam Ta (B)  Havelocks
(C) Thomas Jo oncs Barker (D) Campbell 3
(E) Questlon“not attempted i
foraes 3T 1859 #, ‘Rt 31w wres ﬁﬂ'(pam‘rmg)ww?ﬂ"? ¥
(A) EF ¢y MB) TEEE
(C) ITE IR (D) FFEA (1)
(E) rgafa s 99, _
35 The University ‘Eéuca!ion. Commission was set-up in the year « 3 under the Chairmanship of Dr. S.
Radhakrishnan, U2
2, um. T sreaen i frafermer e s Eﬁ’r@nwaﬁ?%ﬁﬁgﬁ
(A) 1951  ify AB) 1953 (3
(C) 1947 o4 (D) 1948 Lf)
(E)  Question not attempted / 3¥FRG T4 =
36  Sewan, Dhaman and Karad are
(A) Types ofi@rasses (B)  Types of Rajasthani painting forms
(C)  Types ofifalk dances (D)  Desert soils
(E) Questlon ngt attempted . N
&, R ST, ' i
4A) m%m‘; (B) T e (ifd) w9 & waw
©) T (D) s,
(E) aa,ﬂfm% S U‘:
37 frfafiga d % (@wﬁ%-m%! %
sh)  wET GG
o fazh © (D)  q®H o
(B) R 'ﬁ‘: '8y
!-4-\-
38 Frefer i & fgpf o et goge T ot
(A) FE m @
(B) i Ay i
Als ] 9 i l PuT.Oa



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda47]

two statements:
Stateme : Most of the rulers of the princely states after Independence of India were averse to join the Constituent

Assembly.
Statement (II) : This response of rulers of the princely states meant that after independence there was a very real

possibility that India would get further divided into a number of small countries.

In light of the above statements, choose the most appropriate answer from the options given below:
(A)  Statement (1) is correct but Statement (II) is incorrect.

(B)  Statement (I) is incorrect but Statement (1) is correct.

(C) Both Statement (I) and Statement (II) are correct.

(D) Both Statement (1) and Statement (II) are incorrect.

(E)  Question not attempted

= 21 e feg e €

U (1) : I shY TT o w1e R % s IImeeh S @ H 8 & faeg &

HUF (1) : VT TaTST ot 56 Tferam oh1 37 o fof wadran & a8 e o<t wueT oft fop a6 @1e 29 | #fe s
SYUeh YAl % e §, A Ry g fevedl § & ga@ sugw ST

(A) = (1) BT 8 Tifeha @ee (11) TTera B (B) o (1) TTeTd & wAfeR e (IT) @elt 21
(C) =¥ (1) 3R A (11) ST gat 81 (D) =¥ (1) ST A (11) AT &) e 21
(E) IfguRaux

40 Where is the archaeological site of “Civilization of Balathal” situated?
(A) Hanumangarh (B) Ajmer
(C)  Vallabhnagar, Udaipur (D) Mount Abu, Sirohi

(E)  Question not attempted
HTATIE FIQAT T I I gl (29 87

£A) BTG (B) =T
(C) aCETR, IIATR (D) WTere 31T, Rt
(E) 3Tgai@a gy
41 In which year Prithivi Raj III defeated Chandel Ruler of Mahoba?
(A) 1191 AD. (B) 1192 AD.
(C) 1181 AD. (D) 1182 AD.

(E)  Question not attempted

e o & gt ST 111 7 FeTaT o 6 e i ST 917

(A) 1191%. B) 1192%
(C) 1181%. (D) 1182%.

(E) Irgaiayd

42 “Saheliyon ki Bari” a popular tourist destination in Udaipur was built by
(A)  Maharaja Surajmal (B)  Maharaja Udai Singh
(C)  Maharana Shambhu Singh-I (D)  Maharana Sangram Singh - 11
(E)  Question not attempted
T F1 w0 yieg e e weferdl 1 At e g s i o |
(A)  WERTST gise (B)  wWewn 3ed fiiw
(C)  Heron 77y fife-I AD) v w11

(E) erqafa v

43 Inthe sentence given, replace the underlined words, choosing the maest suitable idiom from the options below:
He was arrested without being given a reason.

(A)  atodds and ends (B)  outand out.
(©)  over and above ' (B)  for no thyme or reason
(E)  Question not attempted
Al5 ] % 10 [ P'T'O.

et
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44  For the given sentence, choose the most appropriate answer from the options below:
The language and style of a formal letter is-

(A)  very friend]y _B)  polite and bgcf
(C)  lengthy ¢y (D) chatty C)
(E)  Question not,attempted e
45  For the word give;:ii Hindi, choose the most a i i i l'ﬁ' i
il ) ppropriate word in English/from the options below:
(A)  unacceptabl€) (B) untenable |9
(C) tenable g+ (D)  acceptable -4
(E)  Question not attempted
¢y %
46 Match List-I withList-II i
List:I (Chhatri) List-TI (Places)
a. Chhatfi of Sawai Jai Singh L Alwar ;&-E
b. Chhatri of Musi Rani 1.  Ramgarh {i{}
c. Chhatri of Gopal Singh . Gatore {}
d.  Settior ki Chhatri IV. Karauli 1}
Ffl-1 o e -1 <1 e hifsg 4
-1 (@) HEft-I1 (7o)
a. Gﬂﬁﬁl}r firg <t wadt I, Heldl f*“}
b. T Tl L e gy
c. e fE A oAl . %R P
d ¥ty V. et ?}1’
Choose the most appropriate answer from the options given below: (% 4)
ﬁﬁqmﬁaﬁﬁﬁﬁwaﬂﬂ?ﬁmwmgﬁ €9
(A) a-IV,b-Hlc-1,d-1I 4B)  a-lLb-Tg-1V,d-1I
(C) a-Lb-ILe4lll,d-1IV (D) a-ILb-Le4IV,d-1I
(E)  Question not attempted / aigﬂ'ﬂ?l' b
47  Who is famous ast?g’agad Ki Meera’? E_z_}
(A) Gavri Bai _ (B) Panna Dhaiz:j
(C) RanaBai 0N (D) K.1|.rrnav,w.!z’1t1F s
(E)  Question not attempted &
e o v 3 m?q-h i e 27 5
JA)  TEET I‘T,f} (B)- WSHUR g
© wmaE (D) Wi
(E) orfuafta 4 r
N ']

48 After Indepcndcnc(ejhrce states in Rajputana acceded to the Indian Union ;hrpugh the-
(A) Instrument o{_}lntcgranon (B) Accession lmtmment League
(C) Instmmcnt‘oqob]ignliun (D) Imtrumentao("Acc.c:.swn
(E)  Question nptuttempted e
31 1 T 35 G TSTAT 36 i Tt o el we i feer @ e e
(A) TR S YT (B) U gy el
(©) TR S piiferiar (D) S ST TR
(B) Tqaita uo

A15] % | 11
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49  Which part of the telephone device accepts voice and sends that information in the form of electromagnetic moves?
(A) Dialer (B) Mouth Piece
(C) Receiver (D) Cable
(E)  Question not attempted
AT ITHTOT 6T & 1 HT 9T & St ST ol Tl e € A 38 T bl foregar erehi oot o w0 3 e &2

A) ST (B) wEHUdw

(©) foftax (D) Fa
(E) gaRa w™

50 Which one of the following is not the mode of Social media?
(A) Broadband (B) Blogging
(C) Facebook (D) Twitter
(E)  Question not attempted
fFrfafaa # & 2 ar dvae Hifear e (d@re) 7@

_(A)  Siteds (B) s

©) EgH ® fa=
(B) gaiaws

51 Who of the following space travellers born in India died in space shuttle of Columbia during its returning?
(A) RituKaridhal - (B) Sirisha Bandla
(C) Kalpana Chawla (D)  Sunita Williams
(E)  Question not attempted T
T 3 et ST, i oY sttt anh oft formreht sTorelt & <o ietferam 35 siafeer o § geg €1 o
(A) g wfee ®B) fafersigar

C)  HeTAT FrEer D) g fafoam

(E) gufaws

52 Given below are two statements:
Statement (I) : Gram is grown as “Rabi” crop in Rajasthan.
Statement (II) : Oilseeds are grown both in “Rabi” and “Kharif” seasons in Rajasthan.
In light of the above statements, choose the most appropriate answer from the options given below,
(A) Statement (I) is correct but Statement (II) is incorrect.
(B)  Statement (I) is incorrect but Statement (II) is correct.
(C) Both Statement (I) and Statement (II) are correct.
(D) Both Statement (I) and Statement (II) are incorrect,
(E)  Question not attempted
AT (1) : AT TEATH F T FESA 6 T F 3771 7em )
FYA (11) : facTed Tsrea™ 3 <t 3R @l 37 dem § Immasmy 3
I o] ok ATt H, i fau e fenedt § § waifers soges s
(A) e (1) wer & SferT e (1) e B (B) e (1) el & P o (11) Wt 2
(C)  &yA (1) T FHU (11) SHT Tel 8l (D) e (1) 3T FH (1) T Tera )
(E) i@ yd

53 Which of the following taxes is not levied and collected by the State Government of Rajasthan?
(A) Road/Vehicle Tax (B)  Income Tax
(C)  Taxes on Agricultural Income (D) Taxes on land and structure
(E)  Question not attempted
Mﬁmﬁﬁﬁqmmmmmmmaﬁn&aqﬁﬁmm%;
(A) HSHATET HX AB)  IRrER
©) Fsmma (D) iy st st v aw
(E) rqafaus

Al5] %: 12
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57

58

59

Which of the following is not a salient feature of the Indian Constitution?

(A) Provisions drawn from various sources (B) Provision of Dual citizenship
(C) Lengtheist written Constitution (D)  Universal Adult Franchise
(E)  Question not attempted

Frefraa & @ ) HY TR wfere <6 o e ferrar e @2

(a) fafir= Edt & fog m sreue 4B)  Srgl AT 1 S

(C) = o fafaa d@faam (D)  EThifires agw HATUHRK

(E) rgaiage

Who describes Prime Minister as “Primus inter pares” (First among equals) and “key stone of the Cabinet arch™?
(A) H.J. Laski (B) Munro

(C) Raunsary Muir (D) Lord Morely

(E)  Question not attempted

%&ﬁmﬁsﬁaﬁ‘mﬁaﬁm"mﬁﬁﬁwﬁaﬁmﬁmaﬂt‘%ﬁz%mw%mﬁaﬁhﬁmﬂ

(A) TES. @R ' @) TR
(C) T (D) AR
(B) gaia g

g Fufegmu e :

T - 1+ et Tt o T T st & T Sl T et W el WS & g
o - 11 : e Tt ot et it o v 1 o For ST avef o e & weh
wﬁmmﬁ%mﬁmﬁwﬁﬁﬁuﬂmmﬁmgﬁ:

(A) FAITAL, g I HEE R | (B) U 1 3E 2, g A 11§ 81
(C) w13 I IHT T € (D) = 1 3R I AT 3 8
(E) = gaiaus
ST o wHE e Bm-
AA) R HgETE (B) STHIE AN
(© Rk EHT (D) THE ST
(E) Haia 5%
et § & R wreat 8 wfer SwERt 1 FET 82
a. ED b. T
c. TER d. yfger
(-3 TcgeT '
i forw 7o et & & wrarfifores UG S :
(A) Fada, b3 (B) FaeAb,c3R d
(C) @adc,d3Me D) Faca,dIiRe
(B) i@y
Name the left bank tributary of the Brahmaputra River?
(A) Burhi Dihing (B) Sankosh
(C)  Subansiri (D) Kameng

(E)  Question not attempted
TR T 3 1 e ) weTE A A ALY -

(A) T RefEn (B) @&
(©) Ffkd (D) W
(B) i@y '

Al
51 & 3 [P.T.O,
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60  The Western Ghats are known as ‘Sahyadri’ in which state?
(A) Tamil Nadu (B) Kerala .
(©) Kamataks! (D) Maharashtra &) )
(E) Quesliog:;l'ot attempted ©
wﬁmzrﬁa?r%'trwif‘m'%wﬁmmﬁ? C’j
A) Hﬁ?ﬂ%} < B) ¥ "50
©) e ® mewy
€) rgaha gi 16y
61  Which generation of computers uses Vacuum tubes for Circuitry and Magnetic drum of Memory?
(A) Third giqefation (B) Fourth gencra{ip}n
(C)  First getgzl}fnion (D) Second gencr@n
(E) Questioxé not attempted N
e o o i i et A A g AT 3 o Ao e o S fe e 22
(A Ry B) WhAh
(©) el digisy D) FEd oy
(B) e sy Ty
=4 4
62 A set of wires which carries a group of bits simultaneously, that is, in parallel, and has an associated control scheme
is known as : £¥y
(A) Bus €3 (B) Registers ¢
(C) wires 8 (D) data cables £y
(E) Questim!g_qrot attempted _ vl
T T U GO Y, O T R 3 e e 6 o e 8, T i, SR G gt Freror 2iremn 3 v & s S
& & o
(A) =@ ey ®) W= To
© W D) I
(E) e ws
63  The name of th?;tirst Indian Satellite is : g
(A) Aryaﬂ::ha:;ft____'i (B)  Kalpana &
(C)  Bhaskar-I (D)  Insat-I i
(E) Questiozﬁ_lé n'rot attempted &
S R ST AT o
(A) v Ty} (B) e Ty
(C) Wl (D)  FHI el
(E)  srgefea s
(¥} 34
64  Which fair was’started by Kachhwaha'’s to cherish their victory over Chandraeena?
(A)  Khalkani Mata Donkey fair (B)  Diggi Kalyan §i*fair
(C)  Bhartrhari fair (D) Pushkar fair
(E)  Questioh’not attempted Y
wwqtﬁﬁhmmﬁaaﬁmmzﬁmﬂhmﬁm@ﬁmwg -
AA)  aerEf g en (B)  Fenft wrearor st e
(© et (©)  gewdwn
(B) siguftaud
A15] £¥ 14

[ P.T.O.
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65  Who, amongst the following famous artists, has represented Rajasthan in the Bharat Utsav in ‘Bahrupia Kala’?
(A)  Amar Singh Rathore (B)  Jai Singh Rathore
(C) Jamna Lal Bhatt (D) Janki Lal Bhand

\ (E)  Question not attempted

\ frefrftaa § & fora ol e 3 s s 7 sresiar e H Tere i ufafafe frm

- (A) o fiRTEs : (B) wfizuds
|\ (C) SHATATA WE 4D) S AT Wi
| (B) orguRa N
66 'When did Netaji Subhash Chandra Bose proclaimed the setting up of the provisional government of free India at
Singapore?
(A) 231 Qctober 1943 (B) 24! Qctober 1943
(C) 215 October 1943 (D) 22™ QOctober 1943

(E) Question not attempted

Sraroft gy =iz sira 3 Rt & s s o sveerlt (o) ST T A o £ aria i i

UEA) 23 IHEIEH 1943 (B) 24 3T 1943
(C) 21 3F 1943 AD) 22 3 1943
(E) Afui@sy

67  Choose the correct statements from the options given below:
a. The British Parliament passed the Indian Independence Act on July 05, 1947.
b. This Act was based on the Mountbatten Plan.
c. The Act got royal assent on August 10, 1947.
d. The Act was implemented on August 15, 1947.
Choose the most appropriate answer from the options given below:
(A) a,canddonly (B) b,canddonly

(C) a,bandconly (D) a,bandd only
(E)  Question not attempted _
o form T forered] # & Wt F

o fafmrEEE Y 05 T, 1947 A T S T
b, ug SIRIfEH HISE S ol FISHT 9T AT ol

o siffEm Y 10 ST, 1947 1 T S 6 <Al
4. orfufrEm (@) 15 37T, 1947 = @R &R fe &l

5 R e et i & waifares 3Ug SUUE:

(A) FHada,c3d ,(sg) Faerb, c HRd
) Fada,b3ic , (D) Facta,bid
(E) @iguita ¥

68  Which country’s armed forces were awarded the coveted ‘Golden Owl’ award for their outstanding performance in

Dec 20237 (Choose the most appropriate option from below)

(A)  Sri Lanka (B) Singapore
(C) India (D) China

(E)  Question not attempted

foper 31 % Wy ger 0 fagen 2023 ﬁmmmﬁw%gﬁ'rﬁmam'wﬁﬁmﬁm%? T & ey

Juge: fared )
(A) e (B)  fimge
#C) YR " (D) <\
(BE) gui@ua

A15] ¥ 15 [P.T.Q,
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Who was appointed as the first woman Chief Justice of Uttarakhand High Court? /
(B) Indira Banarjee
(D) Ritu Bahri ; /

(A) Hima Kohli
(C) Ruma Pal

(BE)ry Question not attempted -
e . =TT <6y wEelt e g R ﬁﬁ@rﬁww,@m

IgUES I= A /

,(/f),:, feemr et (B) ?ﬁ%?ﬁ?ﬁ

Q. FUE : (D) ft@:rmﬂ [t
| |

(g PapreEaR o .-
70 \\ﬁl'?:h one among the following is a “Fossil Park™? o :.
(A) )1 sariska (B) Réfithambhore

@7 Akal Wood (D) Keoladeo Ghana !-'
' |

(E)  Question not attempted

Frrrfrfa & & - Sftares 7T &7 . ;
(A wiew (B) TR
L@y I (D) R T |
(o TTHASH -

71 \\%‘)ch of the following statements is not correct about Sahariya tr%e of Rajasthan?
{

1-‘?2 The chief of the tribe is called Tapara.
(B) | They worship several Gods and Goddesses, but their main® éad is “Behru Bharani”.
(Cr) The habitat of Sahariya is South-Eastern Ra_]asthan, that too llmlted to Shahabad and K;shangan_] tehsils of

Baran district.
() They have “sotra” like Chauhan, Dodia etc. 1}
(B)3 Question not attempted

ﬁammmmmﬁmwﬁrawﬁwq&%?

AN T ST 3 HREAT sh qITST el ST &l ol
B)) I Seft 7 STe B O AR & e STh 3P A ¢ ‘ﬁ%’@mu‘-f"%l
@ mmﬁmmfﬁwﬁ%aﬂta@ﬁmﬁé#maﬁtmmﬁﬁm%

@n =it e, SifEar o7 S i € € .
() AT 94 .L.i“%
L gaa

choose the most appropriate answer in the passive voice from the options below:

72 For the sentence given,

Myrsister baked a cake. : e
AAY5 A cake was baked by my sister. {f“;
(B)\} A cake was being baked by my sister. ' : (':!
G4 A cake had been baked by my sister. caglhs
(Q}J A cake is being baked by my sister. ?::
(Eb Question not attempted : Cw
o

73 Co%:letc the given sentence choosing the most appropriate word hjom the options below:
M’Sf rother is in the Indian Foreign Services and can speak many lanbmges Heisa

(4) Philatelist AB)  Linguist

l’Q_) Pessimist (D) P o_l'y ‘glo ¢

(ﬁ.’\l Question not attempted Lo
N

74 C&#plelc the given sentence choosing the most appropriate word from the options below:
Shétemarked that she annoyed with him for his lack.af sympathy for the victim

(A feeling i) feeD
(@ will feel (D) feld)
(E'§ Question not attempted =i
A15] 5§ 16 [ P.T.0:
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77

78

79

80

81

Which of the following are two cash crops of Rajasthan?

(E) Question not attempted( "}

frafefaa & & = €t TR @ g wuet #

(A)  =ITom 37 ufEr o B) i 3 freres ™M
JO) T S cferg - (D) W AT )
(E)  Tfaia ws (0] N
Ldim Gandhi Canal ends in \&ﬁi:h of the following districts of Rajasthan? ”C:
(A)  Bharatpur "; (B)  Udaipur ~
(€)  Jodhpur ¢ (D)  Jaisalmer i
(E)  Question not attempted r~{
3fear el Tex Freaferiaa 3 & osiear 3 fra e 3§ o @t 20
(A) AR G (B) AW
(C) SHE & (D) S : ?
(B) 7A@ v« v
0 Oy
Which city is known as ‘Food;Basket of Rajasthan’? i
(A) Bikaner LEY (B) Ajmer (2 e
(C)  Alwar v (D) SriGanganagar
(E)  Question not attempted i
o TTBT BT “TSTEI 1 W 9T & 9 8 STHT Srar 87 : e
(A) =R M (B) SRR
(E) aR@wH N .
Pradhan Mantri Krishi Sinchai__‘;_pfe Yojana (PMKSY) was implemented in Rajasthan from the year
ST 3 s Ay Y R e (R s e off
LA) 201920 ') (B) 202021
(C) 2015-16 - (D) 2017-18 &
(E)  Question not attempted / SRE 74 N
P

Rajasthan Agricultural Rescarch Institute is situated at which of the following cities ?

(A) Jaipur o (B) Mount Abu
(C) Jodhpur ™ (D)  Udaipur
(E)  Question not attemptedr‘“i

e i ST wrer e & e e Rua @

(A) SHEAR Ce (B) WIS A
AC) SR \ L) ==y
() s r
*Deputation’ 1&g =l fedt gurmrda =3 E-
(a) faewavea frafie o (B) fare nuea
) ufafrafs N W) fgm
ﬁ) st 94 =i
09)
rerferfiaa i & «feim qramdi sy @ 8-
(A) v T B L0 @) Gorr sreanfien
%C) ag =t srqufud 21 i AD) & gl e
(B) HIARAwA

A15) ‘ 17

(A) Bajra and Coriander (B) Barley and oil seeds
(C) Cotton and Tobacco (D)  Wheat and Rice

GET IT ON
Google Play

[ P.T.O.
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84

85

86

87

@A) frrfrar=m (B) THETET

(©) irardm 4D)  fod s e

(E) orgaf@wy ' ‘

A group of girls stands in a single linc. One girl is nineteenth in order from both the ends. How many girls afe ther
in the class?

DI 1 Uk W ok et 1 gt 21 2T R & o ST 19 S 550 3 @ 1 e e vt s

(A) 35 _ (,B) 37

(C) 40 (D) 38 ]

(E)  Question not attempted / 3T{wid 4 |

Choose the odd one out. |

(A) Aggregate (B) Accumulate

(C) Congregate : (D) Disperse

(E)  Question not attempted

[ELEEEEE Tl

(A) H=fera B) Efad T

(©) TFEAF D) Feraeferat g

(B) TguR@uy

The perimeter of a rectangle is 90 m. If its length is twice its breadth, then its area is:

T TG AT TRATT 90 m &1 AFE FHehT <T7=iTs =1STS & T 21, ot sweht Sreeer 2:

(A) 460m’ B) 420 m?

© 450m’® _®) 380m’

(E)  Question not attempted / 3TTANT T4

The average monthly income of ‘A’ and ‘B’ is X 6,000, that of ‘B’ and ‘C’ is % 5,500 and that of ‘A’ and ‘C” is T 5250
What is ‘A”’s monthly income?

A 3R B #r Sired ik 379 T 6,000 &, B T C 1 3ad My 3114 T 5,500 3 A 31 C Y sitaq i 5T
5,250 8, a9 A i wrferes T 7 Enfte .

W) %5750 (B) 6,200

(C) 76,250 : (D) 6,450

(E)  Question not attempted / STTAIE 9%

‘A’ borrows a sum of ¥ 2000 from his friend ‘B’

on 31 December 2011 on the condition that he will return the sam¢
after one year with simple interest at 8% per annum. However ‘A’ gets into a position of returning the money o !
July 2012, How much interest amount he has to pay to ‘B'?

A @194 firr B @ 31 fammw 2011 aﬁtzouomém%ﬁudﬁmﬁ%ﬁﬁag@ﬁm 8% aTftien Ty e & 3 AT
AT 7 3 WA A 36 TR 1 2012 B AT R 37T R 37 3 B A R s S

(A) T100 AB)
(C) 280

(E)  Question not attempted / 3Faf@ g4

T 120
(D) =90

IAIS 1 45§ 18 , [ p.T.0
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89

91

92

Rakesh spends 80% of his income, If his income is increased by 14% and saving decrcases by

be percentage increase in his expenditure?

THIT T 1T FT 80% T Far &1 ol Fgeht oy 14%ﬁwamh8=m:m 15%

wférere R & £ |
(A)  2225% Q . .(B). 25%

© 20% N - (D) 2125%

(E)  Question not attcr?gied [ e w

Which of the following i;;; flpt a web browser?

(A) Opera +~ (B) Gmail
(C) Mozilla Firefox (D) Safari
(E)  Question not attempted

freferiae 3 & S o sres e 27

(A) 3T N £B) i
(C) e BrRHEg (D) TERY
() wFERaws *’fl‘

Ei 3
Which of the following i 15 not a medicinal plant?

(A) Corchorus capsu!am‘ (B)  Ocimum sanctun
(C) Emblica offi cinalz's A (D) Curcuma longa
(E) Question not attcmpted
Freafeafiaa i & - sl der e &
(A) FRERT FE_ | B)  aifem dag
©) sl sifefRE (D)  FgAT TN
(E) gaf@yd O
i
Blue Revolution in India’was launched during the period :
(A) 1985-1990 (B) 1990-1995
(C) 1975-1980 i (D) 1980-1985

(E)  Question not attempted

syre # <freft Fhife form et i yrees TS o

(A) W@11985-1990 AB)  WL1990-1995
(€) |11975-1980 - (D) W 1980-1985
(E) erqafaug ,)

In which of the ful!awmé,-Rajaslhan is the largest producer in the country?
(A)  Wool e8! (B) Tea

(C) Wheat (D) Rice

(E)  Question not attempted

Wﬁhﬁmﬁawmﬁwwwm%#

A) FA ¢ _] (B) =™
L i) - (D) uwE
® ogERawa

AIS] g2 19

%ﬁmﬂt;."

)
=

r:)

-

_,....,
— ¥
: % ‘ .
—— v Yl Nl e, . Sl

e
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93 Which of the following dams of Rajasthan is for both irrigation and Hydroelectricity? (Choose the MOst approp -
, option from below) Pria
| | (A) Mcja Dam (B) Jawai Dam
I - (C) Ram Sagar Dam (D) Rana Pratap Sagar Dam

|'. (E)  Question not attempted

Trerer # Pl # @ @ ety @ Rrgen i afi st forega a1 3 forg 3w e sma 22 (0t 84
famea ) _ ¥
(A) Wiy (B) Emgay
(C) UHETR Y AD) I 19 AT AT
(E) rfaiaww
94  Vergheese Kurien is known as the father of which revolution in India ?
(A)  Green Revolution (B) Red Revolution
(C)  White Revolution (D) Blue Revolution

(E)  Question not attempted

it i =t e & e 36ifr 3 51 S w9 F ST ST a2

JA) ehawmifa (B) e (W) hifd
AC)  Aawifa (D) el s
(E) i@y '
95  Which of the following is NOT a large scale Industry in India? (Choose the most appropriate option from below)
(A) Iron and Steel Industry (B) Cotton Textile Industry
(C) Iute Industry (D)  Khadi and Village Industry

(E)  Question not attempted

Terrferftam & & pi-am i # e 2oft i1 3 72 &2 (e & & wed swaes fsea )

(A) e 3 g sam  (B) gtwwESEm
AC)  wega Iam © (D) EE SRR
(E) 3¥gaiays
96  As per the Budget 2024-25, the fiscal deficit is estimated to remain of GDP in 2024-25.
IE 2024-25 T IO 3 STFH TR =12 3 2024-25 o sty I 1 T T A o
(A) 58% (B) 4.9% -
@) 5.1% D) 55%

(E)  Question not attempted / ﬂfﬁﬂﬂ e

97  In which year the Indian Government launched the New Economic Policy of India? (Choose the most approp™™
option from below)

mmﬁ%&ﬁﬁwﬁﬁmﬁm%mmﬁﬁmﬂ(ﬁqﬁ&wﬁmﬁmﬁ)
(A) 1990 (B) 1993 3 ”

(C) 1992 D) 1991
(E)  Question not attempted / 3Tuf w1

98  Who from the following has the primary responsibility of distribution of the food grains in India?
(A)  Food Safety and Standard Authority of India ()
(C)  Bureau of Indian Standards (D)
(E)  Question not attempted

sy # fermferfiaa i @ wrenr= & fawon 6 e R figed g

Employee’s State Insurance
Food Corporation of India

(A)  virelta e g s s sfr (B)  afenfeaiy o e sftar
(C) W W HET P) Rl @ fm
(E) oui@yd
Al5] 20 [p.T.O'
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Choose the most appropriate antonym of the word “Ancient” from below :
(A) Destroy (B)  Modern
(©) Insult‘ (D)  Rough
(E)  Question not attempted

|
1 e sentence gi \ \
100 Forth given, choose the most appropriate answer in reported speech from the options below:

Ravi said, “My mother is going to her home town.”

(A)  Ravi said that his mother was going to her home town.
ép) Ravi said that his mother had gone to her home town.

(C)  Ravi said that his mother wil| go to her home town.

(D)  Ravi said that his mother has gone to her home town.

(E)  Question not attempted

101 Who was the first Lokayukta of Rajasthan?

(A) Justice L.D. Dua (B)  Justice J.L. Gupta
(C)  Justice Pratap Krishna Lohra (D) Justice S.S. Kothari
(E)  Question not attempted

TEEY & WUH AHII i A7

) Sifted SEn gam (B)  iféed Si.uer. TRT
(C) <= WaTT HoT e (D) ifieE Ta.TE. Herd

(E) HAgaiad

100 What is the tenure of the Chairperson and Memb
(A) 5 Years or upto 65 years of age whichever is earlier
(B) 3 Years or upto 65 years of age whichever is earlier
(C) 5 Years or upto 70 years of age whichever is earlier
(D) 3 Years or upto 70 years of age whichever is earlier
(E)  Question not attempted .
Wmm%wawmﬂmwm%?
A s gs a1 g A Al T
B) 3 g5 oy s e i o A
(€ siam 70 e o e 1 ¥ T ¥
(D) 33&&1703&@3113;%3’(‘“?“3"

(E)  srafer ug

ers of the Rajasthan Human Rights Commission?

; an Governor of the state of Rajasthan?
Who amo . s the first woman
ngt ; was th
g the following (B)  Margret Alva

(A

{C) Prabha Rau (D) Pratibha Patil
) Kamla Beniwal

(E -
) Question not attempted e AT ety @ o7

103

* 34 o aro 1 9 () WlE s
© BRIkt D) favi wifeet
FHAT ST
(E) ST
. 21 [ P.T.O.
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104 The state bird of Rajasthanis _____ .
(A) Godawan ( Great Indian bustard ) (B) Blue Jay
(C) Indian Ropp}' (D) Peacock ({7}
(E)  Question pot attempted t_‘-j)
ummmmqéﬂaﬁqm%? (Y
SA) rham‘—r(ﬂz T B) s v
(C)  wReT T (D) =R (5.8
(E) Wﬂﬂﬁ‘e‘f? 3
iH
105 Which of the f‘olImeg peaks of Aravali Ranges is the highest? -
(A) Jagra t (B) Kamalnath
(C)  Gurushikhar (D) Raghunathgarh
(E)  Question ndattempted {;!
aRaet e & FfoRa fred # v S A S a2 L2
(A) STy B) ey
£ TR () TG
(B)  373afa w#ty) &%
e =
106 ‘Kalisindh Thermal Power Project’ is located in which of the followmig greas of Rajasthan? (Choose the most
appropriate optiofn‘from below)
(A) Barmer (B) Kota
(C) Jhalawar _ » (D) Bikaner gﬁ;-‘g
(E) Question not attempted s
El?ﬁfh‘%:mtﬂumﬁwﬁeﬂm Freferfiaa & & s & forg %ﬁﬁﬁ:ﬁm%‘?gﬁmﬁz}rwﬂmﬁmm
@A) wwma ® F
L) wemErs (D) &R 5
(E) mﬁ?rsraﬂ‘) i
€ it
107 What will come n:ffjlace of ‘7’ 1y
9" S T YT I 3T AT v
60, 45,32,21,7
A) 14 5 (B) 11 {#
© 16 o D) 12 54
(E) Question nof attempted / mﬁﬂﬁg’ﬂ if:%
l 4
108  What will come mﬁ;?lace of *7 8]
2 a;wnqtaﬁnmn‘? €3
é ,z O )
O O
[ (.
‘(i)*- —Q‘ ¢ 0N
- v
Y &)
(A) é y (3) Q‘ Cl
1y 1
© o » (5 i
(E)  Question not attempted / 3Txftd w4
Al15] 22
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109

110

111

112

.

Some symbols are represented by letters as shown below:
% WellehT T o7l gTa gt A & S fi i fama @

<

+ = |x|=]|=]|>
BGE[CDAF

Which of the following expression is most appropriate?

Frer it & i T AT UG S 27

(A)_ 15C SF 8C 4B 6(C 3 (B) 15ASE8C4B6E 3
(C) I15C15B8F4B6C2 (D) 15B5G 8B 4G 6F 3
(E)  Question not attempted / 3T w31

Which of the following provisions of the Indian Constitution deals with the appointment and dismissal of the Council
of Ministers?

(A) Article 74 (B)  Article 75

(C)  Article 70 ' (D)  Article 72

(E)  Question not attempted

Frifaften # & vl d@fiem & @9 ar e wifrafrg it Fafe i v & vy war

(A) T4 (B) HTWET5
£5) W70 (D) IFFHT72
(E) rgaiaws

The Planning Commission of India was formed on

(A) 1% January 2015 (B) 2™ October 1950
(C) 26" January 1950 (D)  15% March 1950
(E)  Question not attempted

NI % AT ST AT shl g ol

(A) 15l 2015 : (B) 23S 1950
(© 265 1950 @) 1571950

(E)  3gufa g

‘Rane Jagpat Ra Marasya’ was written to mourn the death of which ruler?

(A)  Maharaja Jeevan Singh (B)  Maharaja Jaideep Singh

(C)  Maharaja Janak Singh

(E)  Question not attempted

WO SATq T HOrE g ames e A A fer ferdt i <
(A)  weRrST sfa fiig (B)  WeRwI S fig
©)  waRr S fife AD) TSI ST R

(B) rui@aus

(D)  Maharaja Jagat Singh

23
[ P.T.O.
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113  Which statements regarding Kuchamani Khayal are correct?

a. Kuchamani Khayal was started by the famous folk dramatist Lachhi Ram.

GET IT ON
Google Play

b. ChangiTN ilgiri, Rao Ridamal and Meera Mangal are the main khayals created by Lachhi Ram.
c. Kuchamani Khayal is not performed in an open theatre.
d. In lflls\f(hayal players of Dhol, Sarangi, Clarinet and Dholak fird the main accompanists.

O

Choose the most appropriate answer from the options given below: 4
(A) a,b, and c only (B) a,bandd -:)nl’)?:P
(C) b,candd only (D) a,candd onlEj
(E)  Question not/attempted : . 0

FEut T & FRCH A § & RS e €

[

+

FHAWUT ST g Sl ATEIRR =St T g Y& o 7 ol
St Firt, e frawrer i s s, et Te Er0 R e e )
mﬂﬁw@ﬂiﬁmﬂm(ﬁt@ﬁﬁwﬁaqﬁmwﬂ

d. @S 1 e, |, mﬁﬁt@wwq@mﬁéﬁ%

= fog o ferehedt i warfferes suges ST

(A)  Faa, b ot ®) ¥a@ab 3ﬁ'((d
(C) Faerb, c aited (D) ma,caﬂtd,
(E) Suiayy ::: Y
114 Which part from ‘ashvagandha’ plant is used to make medicines? >
(A) Leaves (7} (B) Roots ’;2
(C) Flowers ©J (D)  Shoots P
(E)  Question not a’ttempted an-l
‘ST ﬁ%%%ﬁ%ﬁmwmmﬁ%ﬂm%mm%ﬂ )
(A) gt W B) St t:t
(C) FatEH :}} ' , (D) & rH= L6y
(B) i@ sy r_: o
115 Natural rubber is a polymer of: iy
(A) Ethene 5“ (B) Butadiene (.“':;
(C) Ethylene | (D) Isoprene (v
(E)  Question not attempted +—
T T fohaa ¢ T:'Fﬁ e 27 - o
(A) T ey AB) PR (O
© shRefm i (D) smgEfE M
(E) Sl 041 ool v
116 Bifocal lens is useém correct the defect of: (Choose the most appropriate opgpp from below)
(A) Cataract f‘:? (B) H ypcmtelropj_ﬁ!
(C) Myopia ( (D)  Presbyopia .|

(E)  Question not nflemplcd

88

m%wmmﬁﬁMWﬁaaﬁ%ﬁm for ST &2) (e o & et soggen e )

(a) fenfas o o ®  ergwfiar L)
© Fezafiam| (D) wzqfémaﬂfﬂaﬁﬁ)
(B) rgaf@gsd

Al5] 5 24
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117 Complete the sentence by choosing the most suitable article from the options given below:

GET IT ON
Google Play

Please get me ___ umbrella when I go out shopping as the monsoons are approaching.m

[P.T.O.

(A) No Article ") (B) an o
(C) the ‘? (D) a fi"ﬂ
(E)  Question not attempted * el
- ™ 0
118 Complete the sentence by ch(l}?)%ing the most appropriate preposition from the optionsigiven below:
I reached the school .~ _the gates closed. © WD)
(A) by 11 (B) from .
(C) later ; (D)  before
(E)  Question not attempted .. )
. } Q
119 Match List-I with List-II; C?l 4]
List-I (Words)r:l List-II (Synonyms) {
a generous a0 L esteem {n
b. honour o) II. ridiculous e
c absurd 1 ﬁ III.  achieve Iy
d. accomplish i IV. charitable i
Choose the most appropriate answer from the options given below:
() a-1V,b-Tc-IId- I JB) a—H,b-III,c-IV,diZl
(©) a-Lb-I,c-MLd-1V, (D) a-ILb-IV,c-Ld-II’
(E) Question not attemptcé».__! @:
120 Fer & s B aaR Suge e e g
o= o w m
(C) 3T i) (D) T o
(E) orgafaws v 1
21 eI e, T, a0, A, A T G L, 78 o o i S e g
(A) dr g ! B) S=fug Y
() et 4| (D) it o
(E) meRawa “:" 0
[ % —
122 ﬂaa’rmﬁt{ﬂq% - :};
FAT -1 : T 3154 o avi 2l i
FUT- 11 5 T IR T 2
I e 35 AT § et faeedt i § Wi JugE 6 Y)
LA FE Tl ﬁ,—,gm"m‘al (B) HUTIIWAR, ﬁﬁaﬁaﬁnw%l
© mlaﬁ“]zﬁimm (D) amqlaﬁtllaﬁmﬁi
(E) orafta vy 3 : Ffi
LA
123 IfCAT = 48, then MOUSE .bf;qual to: Q
af CAT = 489, a‘rmousc%m’m%’? W)
(B) 138 i
(A) 148 f"l
© 142 J'D g 146
(E)  Question not attempted / e A
Als) g 25 :
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124  Ranjan travelled 15 km northward, then turned ri ght and travelled 10 km, then turned left and travelled 20 km, thep
turned left and travelled 10 km. How far was Ranjan from the starting point?
(A) 35km (B) 45km
(C) 30km ' (D) 25km
(E)  Question not attempted

T ST AN 15 Tt e, s v ey o e 10 fereft <, 3o ama =t i gzt 20 FFt e, aera, v
T T 10 et e wrem T 3 wrifive farg & bt a3 e g

(A) 35wt (B) 45 fopry
(©) 30fFH (D) 25 fodt
(B) i@ wy
125 Which of the following is an institutional factor of agriculture which influences the pattern and productivity of
agriculture?
(A)  Chemical Fertilisers (B)  Crop Insurance
(C)  Size of the holding of fields (D)  Topography

(E)  Question not attempted

Freaferfiara & & o - sheamrer s, it o6 s i TRy Y S e 3

LA) s @ (B) e sfimT
(C)  3Tefieer 5T &1 1 ayrpTT (D) TFHha
(B) o7yafe wsr _
126 “Narma’ is associated with which crop in Rajasthan? 3
(A) Tea . " (B) Coffee
(C) Jute (D) Cotton

(E)  Question not attempted

T TSI Fi v woe & grafaa 22

(A) =™ (B)
(C) =2 AD)
(E) STt 5

127  Which of the following statements is not correct about the Darjeeling and Sikkim Himalayas?
(A) They are flanked by Nepal Himalayas in the West and Bhutan Himalayas in the East.
(B)  The higher reaches of this region are inhabited by Monpa.

(C)  Itis a region of high mountains peaks.

(D)  This region has well distributed rainfall throughout the years.
(E)  Question not attempted

afsifer i fafoerm femmer & a0 8 P § 4 S @ e wdt i 29
(A) 7 ufem & Jurer femrer ot o # e femmem & R )
B) 3 & F Iod TIH G 9T A 2

(C)  Fez=a vda frati =1 &= 21

(D) ¥ & ¥ A wiwy syt wam @ foafia 2

(E) wAguf@ gy
128  Duduma waterfall is located in which of the following state?
(A)  JTharkahand (B)  Odisha
(C)  West Bengal (D) Andhra Pradesh
(E)  Question not attempted
ﬁnﬁi‘:%@rmﬁg@mmﬁ@m%‘z
(A) wrEg AB)  affe
, (©) uftmsme (D) iy wy
E (E) rgaf@wy

Al5] 26 [ P.T.O-
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Read the passage and answer questions 129 to 132 :

_ “Stress” i}

All people have some stress in their lives. A little stress makes life interesting, and keeps you on your toes.
However, too much stress can Pcdt:nllcnltlly‘ You may find your life becoming stressful whenever there are changes

in your environment, in your l‘f.;la‘ionships. or in the demands you put on yourself, ol

Stress can also be CﬂllS%g:‘hy good things in your life, such as getting a new job

[foving to a new place, or
getting married, P s

4 94
your life is getting too “stressful™? You will probably fidd yourself always feeling
rushed, as though you must hur{y‘fzvcrywhcre you go. There is never enough time to do evéryting that you necd to do.
You may find yourself walking, talking, and eating more quickly than usual.

Besides causing emotiogal,problems, stress can also cause real physical problems.ﬁf@ou have too much stress
in your life, you may suffer fromistomach problems, headaches or neck and shoulder paih.

Prevention is the best Way to deal with stress. First of all, be organized- there "ié.'*-ﬁothing so stressful as a
disorganized life. Put your lifg;and your surroundings (your home, apartment or desk 4t Work or school) in order.
Don’t procrastinate, Stop puttirf_igfithings off. Do what needs to be done today. On the oti;t;f hand, don’t always feel
that you have to do everyting right now. Leamn to say “no” to activities and comitmc’ﬂgé that will only add more
stress to your life. Remember that you are only human, and that you can only do one lhir%é At a time.

Leam to relax. Slow down| Take a break or a walk when you feel yourself getting stressed. Find a hobby that
you enjoy. Reading, listening to music or creating something with your hands are all great ways to bring some peace
to a hectic life. Learn to laugh avyourself arfd your life. Try to look on the bright side of i'i:fé‘l Even when things seem

How can you tell whcq:}

pretty dark and stressful, there s usually a place for some humor and a smile. ;:,_;

¢l _ _ &Y

129  What may cause stress? (Choogg_ef'the most appropriate option from below) i
(A) Whenyoudo Yoga. .. ¥

_(B) When you go on vacati{fi yith friends. ()

(C) When you make chang%s;in the demands you put on yourself. L

(D)  When you relax and me;iitiale. e
(E)  Question not attempted -
130  How to tell if you are too strcséﬂ out ? (Choose the most appropriate option from beloxvzl 1
(A) You have time to volun%eég for many social work, . ,
_~AB)  You are relaxed and take life easy. ol
(C) You feel full of energy and josh.

(D)  You run short of time ta'do all you need to do.

(E)  Question not attempted | { }

ek
131  What is one of the appropriate ‘wafy to manage stress? (Choose the most appropriate opti(;:::_;-rom below)
(A) Take on many assignments togclhc.r- N, .
_) Do everything by yuursélﬁand avoid delegation of work,
(C)  Plan and organise your Wark. -
(D)  Rush all the activities you'do. a
(E)  Question not attempted :‘ : ; la

-

|
.

}
y i s [ » options below:
.4ning of the idiom *to be on your toes” from the options !

13 Choose the most Qeprapricse Tl_:?zi'"“b ' (B)  bealertand ready for unyillnug

() Toke n break (1) Look on the bright side

(C) Putting things off

(E)  Question not attempted
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133  Who was known as * Frontier Gandhi’?

(A) Khan Abdul Gaffar Khan (B) Mohd. Rasooq

(C) Mahatma Gandhi (D)  Sardar Patel

(E)  Question not attempted

fterie el & A & R s ST O
LA) T 3o THER @ (B) HEWETHE

(C)  WETHT TIief} (D) TERTHA

(E) fgaiaws

134 Which of the following are not the Artificial Intelligence (AI) related projects initiated by the Rajasthan Government?

(A) UID (B)  Audio Analytics

(©) RajBOT (D) Revenue Intelligence & Analytics

(E)  Question not attempted

Frerferftar = 2 =t it Trorme wwenm e 1 enffefrre R (. o) & weifm wieisET T £

£A) g ®) i el
(C) TsEIR (D) TSGR R e
(E) Irgui@us
135 Who amongst the following Indians has been recently selected for the ‘Goldman Environmental Prize 2024°?
(A)  Tulsi Gowda (B) Rajendra Singh
(C) Ramesh Agrawal (D)  Alok Shukla

(E)  Question not attempted

e € 6 forer F & o sttt o = o vt qoehi 2024° R g R?

(A) e T (B) TS=fE
(C) T ST (D) 3Tl YT
(E) orafa sy

136 If ‘m’ is proportional to ‘n> and m = 5 when n =4, then what is the value of m when n = 20?
IZ ‘m’ d “n’ E’Hﬁqﬂ%ﬁ?'&?ﬂ!ﬁ'mﬁﬁﬁﬁnﬂ ﬁ.mnzzoa}aamwwwmz
(A) 25 ' (B) 20
& 28 (D) 225
(E)  Question not attempted / G:Fffﬁa wq

137 The length of a cold storage is double its breadth. Its height is 3m. The area of its four walls (including the doors) is
108 m2, Find its volume.
e i e o1 g et sherd & g 81 S S 3m el S A @ @ e w0 #1 4
108 m? 1 g8erT 317y w11 g

(4)  125m’ (B) 256m?
|| /EE) 216 m’ (D) 225m?
- uestion not attem
j | i ){%} Q pted / TR w4 N .
[ | [ P.T.
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138

139

140

fraferfaa for weai & “qor i &2
a, = b. ==l
c. T d. ferdmom
e. =
e fo e forehedi & waffers Iuges et ;
HA)  FEAdeiie (B) Facledi a
(C) Fa@a3Ry (D) SHaecaitd
(B) raf@wsy '
Diesel engine converts energy from - (Choose the most appropriate option from below)
(A)  Electric energy to sound energy (B)  Nuclear energy to electric energy
(©) Chemical energy to mechanical energy (D)  Chemical energy to electric energy
(E)  Question not attempted
SIECEEE] R et 81 (e 3 2w s e )
W R ot & s vt (B)  ferR Tt & saifig St
(C©)  Fiywret St T wHfrwa it - (D) FferasEid @fes ot
(E) rgaf@usy

Choose the most appropriate word from the given alternatives which bears the same relationship with the third word,
as the first two bear.

Mountain: Hill: :Tree: ?

(A) Forest (B) Rain

(C) Leaf . (D) Shrub

(E)  Question not attempted
ﬁ%f&qwqﬁwiiﬁ%ﬁ?mﬁaam%ﬁﬁqmﬁm%%@ﬁ%ﬁqmﬁwﬁﬁmﬁa@wwgﬁq:
dq; qels: :ﬁg:?

AA) ST (B) ani

© Wi D) et
(E) ruftaus

141 The first Vice Chairman of NITI AYOG was
(A) Nandan Nilekani (B)  Arvind Panagariya
(C) Narendra Modi (D)  Arun Jaitley
(E) . Question not attempted
Hfifa st 3 wuw ITerer T 42 .
(A) e P 4B)  ofae wanfear
(©) FEwrE (D) IRur et
(E) rguafaug

192 In which of the following budget year, the Railway Budget was merged with the Union Budget?
Frfrfiaa & @ forg e ad 4 e @1 o912 U9 & stsie | wnfirer fmn 2
(A) 2017-18 (B)  2018-19
(€©) 2015-16 (D) 2016-17
(E)  Question not attempted / STTAI 94

Als | £ 29 [P.T.O.

A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

lgs for SC, ST, OBC and EWS from

any matter énumerated in the state list in the

#43  The rate at which Reserve Bank of India lends money to commercial banks is cal!ed
(A) SLR :,‘;) (B)  Repo Rate g
(C) CRR l" J (D)  Reverse Repo Rat?:‘%!
(E)  Question not gttgmpted ™
forer 70 & e e s aforRees 4 ) v v e 8, 39 wmat
@ wwmem B) e n
© w.amam W) D) fedvie
() oafaws )
V) ™
144 Chandoli was declared’as National Park in 2004, It is located in which Indian star‘?
(A) Maharashtra (] " (B) Haryana O
(C)  West Bengal v (D) Meghalaya ﬁ«;
(E)  Question not E{tifgmpted f}
2004 5 <l BTy e e o s b T 4G
(A) TERTY vl B) wfEmm v
(©) wfimsms (D) TETE™ ~
(E) Sguiayyr (V) M
2 3
448  Which state assembly pLssed a bill to provide reservation in state government jo
60% to 77%2 f’;’J | s
(A)  WestBengal (B) Andhra Pradesh
(C) Kerala T (D) Jharkhand "Fi
(E)  Question not dtfempted 1
o Trar o fererreren 3 o SR By e 8 ca E, wa Y, o, o 4. s, T, Q.'H JTET T 60% F TG 77%
H%ﬁ?ﬂﬁmmﬂ{ ﬁ;rar? Q
(A)  aferm T L, B) emEwew &
© Fa . (D) ¥REs ™
(E) wqaiasd () '“ff
0 ;*
i46  Which of the fol]ow:hg articles empowers the parliament to legislate on 4.
national interest, if the resolution is passed by the Rajya Sabha with a 2/3 majority of members present in the house
and voting? (Choose _11]'1? most appropriate option from below) t.ﬁ )
(A)  Atticle312 (B) Article 360 L )
(C) Anicles4 (4 ' (D) Article 249 N
(E)  Question not attémplcd .
ﬁmﬁﬁaﬂﬁﬂaﬁ?mﬁﬂﬁzmﬁmﬁﬁﬁn‘mﬁﬂﬁmﬁaﬁmﬁﬂmﬁwwmﬁwaﬁmw% afk
mmmmmﬁmﬁmm SRR & 2/3 stgwa 3 arer i i s ) (e 3 2 e swges faee
% pl -
(A)  wgwaE 312 AB) 3T 360
(C) erg=az s4 (D) 377 249
(E) rguf@yx
ANS] 55 30

[ p.T.O.
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147 Which of the following statements is not correct about the Gondwana Coal?

148

149

(A) Itis mainly peat and lignite type of coal.

GET IT ON
Google Play

(B)  Raniganj, Jharia, Tata Pani and Himgiri arc some of the important coal mines of Gondwana formation.

(C)  The Gondwana coal belong to the carbonifcrous period,
(D)  Itis found in Damodar, Mahanadi, Godavari and Narmada vallcy.

(E)  Question not attempted

TigaHT Siae % Tt # e 3§ & w0 wr om we) T 87

(A)  TE YeTa: iz 3 fermmge e st et 2

_&B) m,m,mmw,mmﬁ@ug@m@ﬁﬁ
() TSN HIge FRTR el & Waifg ) ¥

(D)  T® I, T, Meradt i et oret & g smar 21

(E) STgaiaws

Kattha is extracted from the inner wood of which tree? 1
(A) Khair tree (B) Mulberry tree
(C)  Kul tree A AENET VT
(E)  Question not attempted
AT FT-H e bl ST et S fepa St 27

LA) WEE Ay 7 (B) Wedads
© FaIw _ (D) FAUS
(E) smafaws waow
Which of the following rivers is the largest tributary of Indus river?
(A) The Chenab (B)  The Jhelum
(C)  The Satlyj - ! (D)  The Beas

(E)  Question not attempted -
fey 7 1 e 9t err ) (greeged) w8

(A) = ; (B) e
4£)  \AgA S (D) =™

(E) @afEug s .-

L)

150  Where is the famous Sikh Shrine ‘Hemkund Sahib’ located?

(A)  Sikkim Himalayas (B)  Zanskar Himalayas
(C) Garhwal Himalayas (D) " Kumaon Himalayas
(E)  Question not attempted
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